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(d) 595 99 AT EEER FE U # Seod 41
FT & |
Ans. (d) : T99 999 AT TR T 9% H SooE 4T
T &1 TF FYF T 8| THH YG T a- T He
e T TR A 81 I e e

68. WUl T WIENT & WAT WA oo deenid oo
HEEATAT &
(a) TR (by SR
(c) gfiw (d) FEiEg =Y

Ans. (c) : B 5T TEA F T A AT FHAE T
'qﬁqa'w%agqi?hwﬁm{m
FHEEAT 3 |

69. Trafefad o o wA—d Sreh 39 Uyl &l A6l 87
(a) A (b) FsTaT
(¢) LR (d) sTAgH

Ans. (d) : SEIYH IR S FH A T G| A A H
AT UE UeRAE & A A OgRT @1 gdiere 3§ ud
ST T e § | ST T, ST, ST # Aol
ST @1 Fwrol FAA, FE@EE, §EE, TETRq 5
8 Al et €| S 448, e, qETEET & A
§ Fret e 2
70. T TETATOT HOM AT A1 &

(a) @832 (b) 992

() AuH TREE
Ans. (a) : @ B 3 9 TRrTOT A0 A 5 2
FEO- W T # wwen, dvgm, qiEen Ry
=T |
eI W A 3 gE, w7 A I e

71. =t Tyt Se wmE-1 T | &7
(a) FIAE (b)) ANET
(¢) FITT (dewiqg

Ans. (¢) : &, 9, T, & 9 &9 e 21 Y e $
Tt avl woyl wiew 76§

72.  'aregive' vreg O @iy g:
(a) & (b) T
(¢) I (d) 3197

Ans. (c) : ‘SRR W F gy Sy am oy + 3fE =
R AE g, €, 3, H, W F A8 fm w0 Al s, 3
F A A I, T H A 30 T FLE A A

F4- af + safeE = arfas

3] + T = a0
g + ST = W

73.  'Eretad’ yTag S Aiaiawse g
(a) T + fam (b) =T + 3
(¢) drer + foe (d) =1 + @ifEa

Ans. (b) : ‘Tt v @ dffEese 9@ + e
g gt o S ) e emeeR R W o e F
TR TAME, T HF AT WA T e
FHE W, A IR I A AW
FAU- 79 + FG = A9

wEl + 3 = WRY
AME—gin 4w veg Rar @ safs ad ous

AT 2

74.  'weETym' vIeg W IR §:
(a) =1 (b)y ¥
(c) HfF (d) e

Ans. (¢) : ‘TERT RS ¥ Wl IuEd g1 s (@TEiM-

A (T W) | W A -, T, W U R

75.  'ATTETER | YIeE W Wedd ¢hI §
(a) 31 (b) &
(c) ¥ (d) %

Ans. () : 'FTEIRE v § 5% 9GO 2| IHENASE
= v | =1 5o A, F, I T

76, ‘HromER’ veE O hIA—HT WU 7
(a) ATEY (b) 55
(c) r=drag (d) FHYRA

Ans.(d):'ﬁﬂﬁfﬂﬁﬁﬂﬂmmél

FHYRT TT- 2O T 2 9NF &9 ° WO & 8
3% fefm, 799 ff o 29 €)1 39 e § Teen =
frgtoon ar g we T € 8, o S S T

77. TaAfeiiEd B | oFodH 9168 hia—HT 57
(a) o (by =@l
(¢) Ud (d) =

Ans. (a) : ‘R@Er @o9m v= 2 319 v Ae B
Lr-CRE Ao 9T
e = T
A — T
oA - ardt

78. WY W T § iR ug
(a) =fh 9% G (b) wfd == g
(¢) AEaT=F H3 (d) F=ETEE w9

Ans, (b) : 99] T R ¥ @i 9g fRares S5 €
Sferarae @3- UF v fod faeft =afs aw o @ #
gl S A Ay @ A da heard @) S6-
=T, T, The, AEH, S, TH, wed |

79. O WEH UT 9T W £ WEiehRd UE &

(a) |0

(b) Hebrara® T fagreo

(c) fergmmm

(d) foram fersme




Ans. (b) : 38 BFF W 9E & 2| @ifEa 98 FhHaaras
gaam fagm 21 37 fEey HETE 8
80. W ATAES I WU T@ifeha g &

(a) FeETrTE TEAm

(b) TETEESF FETM

(c) Ferg aras gdam

(d) wfEm aas TEam
Ans. (b) : B ATHRS @A AW | TG U7 TEEETES
[ 2| 3 Awe FETE B

AT AT
(GENERAL KNOWLEDGE)

What was the period of Alauddin Khilji's reign
over Delhi?

feeedt ¥ wewsdE faesht & ymesse
syafir a4 ot?

{a) 1296 to 1316 (b) 128610 1316
(c) 1303 to 1334 (d) 141010 1437

Ans. (a) : Bedt 7 3@RdA faest & W99 Fe #
A 1296-1316 3. 7% 4| IHH HHET AFANAER i
PR I WY YA @ el o1 sEEde faesh Re
Fod & faesh 99 &1 2850 wEs 91 sensd e
* Ty e st

1. T fag - 1298 €.

2, Sgenr faem - 1299 €.

3, T fEEE - 1301 £

4. Fosite @A - 1303 3.

82.

What is the percentage of Indian population
for whom agriculture is the primary source of
livelihood?

Tererit wiawre widra sewen Fit smsfifas &

vt B i 7

(a) 54 percent/54 SR

(b) 38 percent /58 WATW

(c) 62 percent /62 Sfd¥F

(d) 66 percent /66 yfaoe
Ans. (a) : TA9H H 54 OvE 9" IHEE #
arditaes w1 wafes w6 FA R T A4 swehifEE
o H Al AGHA F FA0 FH F IRAE T
F OYANR WA AW B A Fed wwA W 0
R B & a9 o st IE e s,
Frzarelt M SR T IAE TEL A IV TG F
o sod aid =i &
83. Support of a minimum MPs is required to

introduce a motion of no-confidence against

the Council of Ministers in  the Indian
parliament,

yrdta dHe ¥ Afmuew & fawg sifavamy
TR AV WA FH T AT s ionnen
wrEEl oh ARG WY IrAvaEAr gt €1

(a) 100 (b) 25

(c) 75 (d) 50

Ans. (d) : 9AE §H2 | dfdew & fBeg sfEvEm
A Uy F F U wEan 50 §EE & wda &
HATEET Bl 81 e & B dfaee | sl e
F FE Ioa@ A& FA T 21 AEE F s
118 & 78 9% &4 & 9 S fam a9m @
e 1| 3 AHEW F 99 198 & Fed yEuE
T R & OFE O mEe AmEw a0 A
(T=R) F fawe sfavarn g@mm & 9T 2 959 2

84. Which among the following entities signed

Memorandum of Understanding (MolU) with
Business France to promote investment
facilitation and cooperation between startups
of India and France?

frafefes ¥ &/ e dwr 7 9ne 3T Wi &

e wrdam ¥ e gl sfw weam &=

=g &3 % forn freew wiw % wvg i

G (ST ) W e faru?

(a) India Live/sfEar wmsa

(b) Invest India/3=%2 ¥fear

(c) India Pitchers/3fEar faed

(d) Corporate Indig/FTRe e
Ans. (b) : “5=9% A’ A vRA SN i F 99 wrEsm
71 fAawr gfasr s FeAm # agEr & F T ww §
AP TS R 9 FEER R 9w gws e sk
st wezlar 2 e Fae aedE wEEa § 99 H
HRF-YEE #R TEAT WA 8| 9 gege A e
WA dFW A4 §i YA § gdfum A, srdm
R ZHEIE T GEA F HARE-NEE F AEd 50
85. With which part of India is Kingdom of the

Palas associate with?

Tl WTETS G & e e | weifte §7

(a) Western/gfaeft (b) Easicrm“l"ﬂ

(¢) Southern/zfEvf (d) Northern/3wdt
Ans. (b) : T9 WHSE 1 fAER 9w # W B A an
UIE HERG FEEEE 9 U GEU a9Ev 91 9
foF 750~1174 397 o5 o1 39 FESE H G T
F @ & T AW A e g A oe J9 w o
W EE wiuE 9 e e Rvafes
T
86.

How much is the estimated quantity of food
grain production in India during 2017-187
2017—-18 % ENH VIRA H WETH IWET W

sraTfaa A feheT £7




279.51 million tonnes/27,95,10,000 24
284.51 million tonnes /28.45.10,000 25

(c) 289.51 million tonnes /28,95,10,000 24

(d) 294.51 million tonnes /29,45,10,000 249
Ans. (a) : 78 2017-2018 F 2H 9RA § @EE 3P9EA
F A AA-279.51 fafees @ & sEiE IAmEA
275.17 fafermm 2= @@
af 2018-19 § Fa WA A ST AET 284 51
fifergm = 21
87. Who is the current Governor of Karnataka?

ThHATEeh & ST ToAUTe i &7

{a) Kiran Bedi/fTor i

(b) Vajubhai Rudhbhai Vala/35[9TE Ferar aren

(c) Keshari Nath Tripathi/Faft w12 fawt

(d) Kalyan Singh/&cam &6z
Ans, (b) : FAEF & A THATA THE FHAE AT
21 37 U & UsAde
oft=m @ma - Fwd a7 Had
I — Feam
AT ~awEd @ra g
FEARTE - HA A9 2T
88. How many ranks has India moved up the

Global Innovation Index in 2018, as compared

to its rank in 20172

2017 W W I OrgEe @ e W 2018 H

afgs Fara  gomie  (EEe ARV

2o ) ¥ feper wrarars = ware i #7

@) | (b) 2

() 3 (d) 4
Ans. (¢) : AaH TP TahiF (Teae YA FEH)
2018 ¥ 9EA 130 29 F 574 ©H W 41 2018 F
Global Innovation Index &1 | 137 HERIT 41 S &% &9
¥ wHe fayatraen wEE 3R sfes §UE ERA
(WIPO) ZRT =1d f&an 7ar 411 2018 ¥ wwa 9 Global
Innovation Index 2017 @t 60 T 1 o1 # 3 TAEH
F wfa # # sk w3 2w ofimn § ofd WEn
sfeTagT % ®9 § 397 7
89. Union Ministry of Petroleum and Natural Gas

recently amended Petroleum and Natural Gas
Rula 1959 to include in definition of

AT geieran 3 wrtees fry dever F e
4 geenn— . E .
N A P W — S
e 1959 o HyTree femam

(a) Coal; Petroleum/HT9a; TZiferas

(b) Shale; Petroleum /37e; Y2 eram

(¢) Helium; Natural Gas /&feraw; aigfam 9

{a)
(b)

Ans. (b) : F417 T2ifeEn 3 W 19 e 4 9E &5
Teifeaw # mite &= & fau WEifems a 9@ e
7 1959 § #vmee fEa ) W weiftmw &
gftarn & el emeEEE, SR & agfe W s

A F ®Y A @, 39 Y 3941 a4 FH HEor B, #=

(d) Hydrogen; Natural Gas/@ZET=; WEHF 19

ot fa e R

90. What is the kevboard shortcut for "Undo'
function?

'"Undo' TergTe o S6TE e o491 &7

(a) Ctrl + Z (b) Ctrl +V

(c) Ctrl +C (d) Ctrl + U
Ans. (a) : 'Undo’ B39 51 #farg viidse Ctrl + Z 1
ECED

Ctrl + V &1 & (Paste)
Cirl + C 31 &l (Copy)
Cirl + U &1 ¥ & (underline text) & Tieshd - 21
91. Khizr Khan belonged to which of the following
dynasties?
faw @m frafefes § & 59 awEw &
wafia ar?
(a) Slave Dynasty/ el 39
(b) Khilji Dynasty /faersi 39
(c) Sayyid Dynasty /32 a9
(d) Shah Dynasty /%1% 391
Ans. (¢) : faw @i, el odm & G278 59 (1414-
1451 ) F HETH 91| T AU AEHEAIFEA TR H
TEAT Y2 A 41 e § R A 59 A, qe el
feqrerg @t gaedt w1l e @ faw @ 3 gom
i vy uRo 4 = afew a7 Ea-u-sen’ o3 §
# F=e @
92.  What is India's rank in fruit production in the

world during 2017-18?
2017-18 ¥ faver & Wwer SeaET § WA W B

w1 T §?
(a) Fisrt/98e (b) Second/ZHU
(c) Third/drT (d) Fourth/=tar
Ans. (b) : 201718 fava && @A § 9yWA F 5 F
T T A #
93,  Where is Greenland lacated?
=z el feaa §7
(a) South Pacific/2f&0 snid
(b) India Ocean/fd wETEMT
(¢) Caribbean Sea/#{faaq |
(d) North Atlantic /258 sE@iies
Ans, (d) : T8 2@ &1 w9 991 €9 7 S 98 IW
S 3 79 & 4 390 sl seaR i fa f)
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Fugitive Economic Offenders Bill, 2018, That
aims to curb practice of evading criminal
prosecution by economic offenders flecing from
country, will replace the ordinance
promulgated by the President in

wiregr anfefe ot ferdoer 2018, frmrn

YT 9T W WA amer i — - 4
e HAfETST Us W @ed R ST @
TFAT &, AT B ooveerrnrrrrnnnns I W] FERT
T {EATT SR Gfereertie s
(a) Febryary 2016/%%a% 2016
(b) April 2018/381& 2018
(c) June 2018/5F 2018
(d) December 2017/R5aw 2017
Ans. (b) : 5= 4 wirer anffs swd fBgEE 2018
o RyF 3w F wrm T anfdE  sufeEt g
i SfEeE 99 4 @99 § Sy F T 2, A
TG ST F ST 47 F A I GRAE #1949
G % O W o g 81 apalE B Ste 2018 &
o] o T sy @ sRweafi Som gEE W
afdE st e 1 gfas 100 F02 390§ AfE &
e A S ST 5 FT & S 56 #)
95. has announced that it has clinched a
deal with India on reduction of tariffs (import
duties) on India medicines including anti-

cancer drugs.

........ ..iu’lwnaﬂtfa:m'&mfaﬂﬂ’r
Tenadl wiga QA gavet ur e (@rmew
Yo ) I W HIA U7 GNE o Wq WHsar
faram %1
(@) Japan/MF  (b) South Korea/Zmm Fifrar
(c) France/FH  (d) China/4TH
Ans. (d) : 99 7 7@ groon B 2 R IE S faad
Zansit Ao gEAE FAs W 2Fw (AW wEE) WO

FH T AT F T FHHT 5 E
96. When was Earth Overshoot Day 20187
gt sfrawye faaw 2018 Fa ar?

(a) May 15/15 3 (b) August 1/1 34
(c) July 21721 Sj#0E  (d) June 1/1 S
Ans. (b) : 2018 ¥ 9ot e fEg | 9w F oA
T 41 gedt waEfl 99 (Earth Overshoot day) Frd
ggel wififtafas #o1 fREg & &9 § 99 99 2 @ 0
WA dast A 8, e w oad & fau g #i
TN T 3T WERET WO W A # g #)
gaal 3fee ®1 2017 ¥ T8 2 3T F A9 2018 H |
I F TR R T T A
97. In early 12" century. Delhi was ruled by the

12t yravadt & ey o feeet ov femar s
or?
(a) Tomar Dynasty /AR 791
(b) Dhilji Dynasty /faersii g9
(¢) Sayyid Dynasty /&= &7
(d) Tughluq Dynasty /TTe® =9
Ans. (a) : 1281 vARd F aE9 § R W AR g9 @
YA 971 ST faeed! F A 49 F S 40
98.

The Government of India aims to cover
percent of Gross Cropped Area

under Pradhan Mantri Fasal Bime Yojana in

2018-19.

A FIHT ThT T4 2018—19 | TUHH weer

dmr AT & dET TeRel WES 4 W

.................. WieroTer HITare &= 7
(a) Fifty/9=r9 (b) Sixty/q13
(¢) Seventy/Fd (d) Eighty/3rsdt

Ans, (a) : 97T TEN F 7F 2018-19 F 595 d 554
i A (PMFBY) & @8d #@ FHe &9 @ 50
sfaera sl e &1 59 A9 113 S 2016
ey e T A

99.  Which among the following in the highest non-

Asign mountain peak?
fr=ferfes § | @ o Tvaem vee frew -
ufvard #?
(a) Mount Kilimanjaro/ FEers=mr geq
(b) Mount Elbrus/TeH Tad
(¢c) Mount McKinley /8fel gda
(d) Mount Aconcagua/HHEHITH Ta7
Ans. (d) : TN § @ v W @9 S vEq e
sEprETT gdd S fgd )

100. Prevention of Corruption (Amendment) Bill,
2018 amends various provisions of Prevention
of Corruption Act (PCA)
qETeT FRTTE (HYT ) B, 2018 ST
UTEUTHT 8 HTL whear )

(a) 1971 (b) 1988
(c) 1994 (dy 2003

Ans. (b) : FETIR fries (EueE) ME9%, 2018 9PN

g wfafmw (fRT) 1988 & fafie yagF § Seee

w0 B Ay qeneE sfuftam § A seeE #@

B A 3R W F FA @ FER R F 3R

T 2

101.

In which year was Global Footprint Network
founded?

THEW Yefie Jead #i v fEw ad gg dr?
(a) 1991 (b) 1971
(c) 2003 (d) 2010
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Ans. (¢) : TEEE F2fie Fead = = 2003 § gF 4
2003 # e gefie g@ w9 8 HyE o e,
Afesam 3 faesrave § figg s @i s 3% &)
THF e siFave Gfawian § fag f wee
Fefie Fzad wAwiE gafaE s Sa-gwa wE e
F W AGE F U IYE fAETEA wa # S agE
& &
102.

How many agreements were singed following
delegation—level talks between Prime Mlnister
Narendra Modi and Rwandan president paul
Kagame in July 20187

TEATE 2018 F guTAEA Wiy Wit o @t &
TEfT UISE HIWH o A WiarAaEse Wi
amat & arg e el W e fae mo &7
(a) 4 (b) 8

(c) 12 (d) 16

Ans. (b) : TETE 2018 H W) T A S @ §
e uEe M F 4w s =iy a9 F 9 8
wTFE W EERT R T g

103. Which among the following is NOT a database
software in computers?

frafafas § @ ®9 o woger @ TR

wizagT 7 &7

{a) MS Access/THTH !ﬂ’ﬁ'ﬁ

(b) Foxpro/miast

(¢) Oracle/ FHTHaA

(d) MS Word/mrug 7
Ans. (d) : TIUR 98 F F SCAT WA A8 A
7 0F Ifeme a€ FrEET SEm 2, 1 39ErE 2R
T GHT § SAlE THUN U, BN, S9Ea dE o
FEET T ST WA # |
104. How much amout in being invested by the

Government of India in the Pradham Mantri
Krishi Sinchai Yojana?

VST /iy e 9o 0 9Wd @EE gy

TemarT TrfyT =mr Toarer fama war &7

{a) Rs. 20000 crore (b) Rs. 30000 crore

ic) Rs. 40000 crore (d) Rs. 50000 crore
Ans. (d) : 39REd S e A9 § 9w WER 20
50,000 H0E w9 F uw W FEw B o 33w
ol ¥ e s e o, B e s e
& AN WA HET A THEA [awE a Hee
# T &1 201516 F @0 o fq=d F @ 8.0 @@
R 8w # weg fffm @ o 4 R 2019
7 99 g sl mew ffad F frem @z # gu e sm
1 4§ fofy forem mar 21 T AAE 76.03 T TRW
&7 T & aea e S W
105. Al of the following are Kharif crops, EXCEPT

frafafas 4 & ... & B15 T [elt
i wEe £

(a) Maize/FeHl (b) Ragifﬂ"ﬁ

(¢) Millet/aTsmT (d) Wheat/T§

Ans. (d) : 791 Fq F FHEA F GG Fa1 T E TR A
# Semd % A A S v famer, s ¥ #e
T R FF WIE BEA T, AR, F99, 92,
ged, FAEE, 99 afe # wafE W e A e 2,
ST SRR # A It & g we-ania § R S
2| THE ¥ g FEG 9, W, 5O, s, 7

afz &)

106. Parliament has passed the State Banks (Repeal
and Ammendment) Bill, 2017 to merge
suhsidia%:anks with the State Bank of India.

qF ATEH AT F AT .vvsrrreee
mﬁﬂﬁmtmm&sm
i wmye ) farsraes 2017 it fawar &

(a) 4 (b) 6
(c) 2 (d) 8

Ans. (b) : 5592 9 ®7 95 @i% 2w F 99 6 (@)
HEEE 4% B 06 ¢ F v =22 ds (Pre el
weine) faggs 2017 d5ft @ & @1 3@ fadEw 21 g,
2017 &1 fam o awo SEel gw e § 9w R

™ 9gr)

107. How many cows were gifted by Prime Minister
Narendra Modi villagers from Rweru villages
as part of the Rwandan Government's Girinka
programme?

Taret wan & fifter sewe & e Fww o
et Tz A 3 e i 3 o
fererft Tt = I fean?

(a) 50 (b) 150

{c) 200 (d) 300

Ans. (c) : TIFER AH UG A TEiST GOER & (i
FAFS F AEa A H 200 T F Iww fFm GAE
o I #F T W 2 @ F Py s w5 F
Iqfeafs &, ol w1 d@od F fow wd @ e A

A R T 9

108, Which among the following is NOT an open
source software?

Prefeafigs ¥ & S 3w d@nd giresgT 768 2
(a) Linwy/®m5aa9

(b) Microsoft Office/AEaHMRIGE HTET

(¢) Mozilla Firefox/mifsren HraTwiad

(d) Android/TZTaE

Ans. (b) : U HiH GigEa9w, U ToEa9 F1 F&
2 fos o 8’ of F fow ow & B w4
HOAT ANTEH 29 IHH ARl 441 TEAT 21 594 IS
#- UeEe, A, HEl BETEEE S
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109. Which among the following is the highest
waterfall in the world?

Frafafea § ®m ar g § wad wmar F=rd

AT ST 2
(a) Mutarazi/5=i (b) Monge/HiT
(c) Tuy.la/m (d) Angel/gfe
Ans. (d) : 34§ wEAE W S48 Aen g ufed

g #1 e 3eE 979 diex (3217 fRe) & 9@ w
Sy f e 4

BT g T

UfSer @ FU (Angel waterfalls) 979 #. FFSUET
ZITe W W9 (Tugela falls) 948 #. HZT FHF

AR (Mongefossen falls) 773 #. T8

HE (Mutarazi falls) 762 #. fara

110. In which year did Muhammad Ghori lose to
Prithviraja N?
e T fem ad gefrer gete @ anfee
73T ar?
(a) 1471 (b) 1191
{c) 1301 (d) 1061

Ans. (b) : 90T HEW gig A 1191 £ & €T &0
yeekt weré ¥ gften e weade g Al i
foam 3in =% @1 % ¥4 5 ®9 § g% 4 fam emme
& fF i % g 98 § 7@ geeRr Wl § wiw g
Sl WA o e T O g

111. The length of the total coastline of India

including Andaman &  Nicobar and

Lakshadweep is approximately .

ST A SRR A A T
Fe ALF TET B TS THT oo B
fa) 6,500 km (b) 4,200 km

(¢) 7,500 km (d) 9,200 km

Ans. (c) : 3EUF 3R FFER 79 GWEN Wi 3 449
TEeT AT 9RA # Aerar @ o 7517 fEAL #
T e 9 & s & e 6100 fEdL #
T g qf & deta wfvew § swa wrw, @@ A
e A @ s 2w § R w2
A F R T T FEN, TR, wEnE, S,
FE, A, qEE, T T e S
W AEmE % @ el ) an § mas el e
oA & WG @ |
112,  In which year was India invaded by Taimur?
W WY AT F fohw ad st famar ar?
(a) 1294 (b) 1417
_ (c) 1213 (d) 1398
Ans. (d) : TR 49 F i EE AEEEE TR
(1324-1412 €) & ww =@ & 1398 £ § w@
SR A A A R s A 4

113. Which among the following known for being
the deepest point of the Indian Ocean?

forer & 7 fom ffg wemam & wad et g &
Y A= T 2

(2) Marina Trench/air 23

(b) Sunda Trench /#2124

(¢c) Puerto Rico Trench f‘“@‘f figt 2=

(d) South Sandwich Trench /139 Hsfom g7

Ans, (a) : &= TEEIR F1 99 TEq W () SR
T (8,4079.) 21 THF wwEE guEr W (7,4509.) 2
s faFedl F 3ER (b) 9 IW A omm 2
afiar 7 (11,034 9) s s uF e @ gad
T T 2

114. Why is Sarnath in Uttar Pradesh important for

Buddhist?

drgl % oo 3w wRwr F fiuw wwa w6l

wEwagut &2

(a) Lord Buddha attained enlightenment in Samath
WA T5 F GRAM § J9 9 G

(b) Lord Buddha was born in Sarnath
HEH T F W AL T I AT

(c) Lord Buddha attained mahaparinirvana
(death) in Sarnath
TEH % 31 JEry § wenfiE @) gen 9

(d) Buddha preached his first sermon in
Samath/T I1F FA & T8/, TAA G A
[ H ST e 3949 f o

Ans. (d) : A9 q5 4 IH WA F A% IW WE 5
qrar (B geeq) § i sl s #ose a9
aggy fam, g et ol o ‘wiempeds’ & am 3 9=
ST # | AW UR W@ gl & o geEyel @ o § F
g A AW Haawa § wEifes IRy e 3w A
el aEe 7 73

115, Which of the following Nawabs of Awadh built
the Bara Imambara in Lucknow?

Ey & faeafates § 9 5w Fam 3 mEas 9
ST SHTHEATST FaTAT?

(a) Asaf-ud-Daula/ HTF-IZ-2F

(b) Asif Jha Mirza/3HE 18 firsif

(¢) Shuja-—ud-Daula /IF-32-21

(d) Yamin-ud-Daula /AfEA-3a-2Ten

Ans.(a):wmmﬂ‘f 1784 § 3@y F =9 9@
FHF-32-dteT F Z FEE T 41 9% 1784 €. gu
TF 92 3FE & fn A oo & R F w0 A
T AT 47| TREAS 1 45T SHEEIS] §H IR § §ad
g WS d 4 UF 2

116. With Which musical instrument was the noted
musician Ustad Bismillan Khan associated?

13



vy w@iffaen s fafneeme = fem

it arer o= | dafte 47

(a) Table/mcTar (b) Flute/sig{l

(¢) Sitar/fEam (d) Shehnai/IETE
Ans. (d) : Yo Timer ser fiftear @9 IR
T & #7 § gEied 910 g8 2001 H 9RT F T
AME T, T T FE e mr an
117. Whe founded Aligarh Muslim University?

areftrg gite favalaemes & g R

&7

(a) Syed Ahmed Khan/37% 3EWE @H

(b) Mohammad Ali Jauhar/T@8 7 STa

(¢) Muhammad Tqbal/qe™% g5eel

(d) Syed Ameer Ali/BTE 3T 37e
Ans. (a) : 37TTE g FAvafamg # @ W EEE
e | A 1875 . # ApwE oe-Fiied e F
&9 5 wfie e o) g vre-Siiied #1520
i srefrrg gftem Frvafwres & T
118. The famous Panchmukhi caves featuring

paintings from pre-historic period are located
in which of the following districts?

WHifeits @ W TeseH! Al Wies
reret T Ftferiian T T 3 frr 87
{(a) Mirzapur/ﬂl’éﬁg'{ (b) Varanasi/FFToTEt
(¢) Sonbhadra/&F9E  (d) Chandauli/==rei
Ans. (¢) : Tt @ # R gt afis g9
TET I ew # fyen oewg ¥ fom @) 3 femEe o w
Fr Aforl & e el A fum # e @M 250 0%
o T &1 Em, e FEE G S wEE § T
S T JeEE
119, Which of the following places is well-known
for the production of glass bangles and
glassware?

Tafafas § ¥ &= |1 W S $ gGiea
3w o & angedl & I & ferg
e &2
(a) Farrukhabad/ e @mErs
(b) Firozabad, fFi=ars
{c) Fnlehpurf‘?m_;l??
(d) Faizabad/FemaEms
Ans. (b) : RIS T ST Y # S HE A g
3 F9 & T T F S F o 9 9
120.

What percentage of population of Uttar
Pradesh lives in rural arcas asper Census
20117

2011 Tt FATIUTT & ST S Ta9T ot fehat

wfeyTa smardr urdior S5 § et £2

(a) 62.73% (b) 67.73%

(c) 72.73% (d) 77.73%

Ans, (d) : 59 # O FEE ¥ I WRW A 7773
sferd w07 2011 I SHIET F Sa Ao g F wd
&1 FA SAEE § 155,317,278 @M I A F w9
g, forll gedi & dear 80,992995 & aur afgensdi #
AT 74,324283 21 A &E § afeer fem e 911
gfd 1000 Te5 o
121. Which of the following dances does NOT

belong in Uttar Pradesh?

foafafgs & ® &9 @1 99 I WY ¥

weifira & &7

(a) Charkula/=THem

(b) Kathputli dance/F3GAal =

(c) Mayur dance/H9 J™

(d) Raas Leela/Tr wem
Ans. (b) : FITA I I TEY H Gew AE @
FIYAC F TAE F HAH ASE 5EvE FA §
TF 2| 7% TH WRARF o 7, T FSqaet aH R
a & SEfE S, TR 39 a9 U9 | 39 IW
YT & T A I f
122. Which is the longest Kaanda (chapter) of

Ramcharitmanas penned by  Goswami
Tulsidas?

T geriiers g1 ferd o wrsieeE w5
TEH T WIS (AT ) i | 7
(a) Baalkaanda/aTEHE
(b) Avodhyakaanda/FEATEHS
(¢) Uttarkaanda/Ia0He
() Lankakaanda/sFT6is
Ans. (a) : THARAHEE ¥ HW e (HE) TEEHE
gefera g forg o ) ol R dAn s (FE)
TAHE & T FA 361 A § 1 TAH
HEATH (HIE ) 28
EIGEES 361
AT 326
FHTFIS 46
ferfthen e 30
TTHS 60
[GERERES 121
TEE 130 2’ &
Who if the author of the book 'Bijak'?
‘s’ gieeh & TS B 7
(a) Ravidas/ T4 (b) Surdas/gwETH
(c) Kabir Das/FAEH  (d) Vitlu|ml.i/f:¢ﬂ'ﬂ'|'¢ﬁ
Ans. (¢):

123.

=AY

- =%

T I

~ Fifeia, Hferw, g o, 9-
Liie e

FEHaEry
HTETH

farmfa
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124. 'Who is the author of the Hindi play "Andher
Nagri'?
it avess ‘aid Tt & Tafer @ 7
(a) Munshi Premchand/%¥1 ¥9e%
(b) Bhartendu Harishc handra/"Wig 2=z
(¢) Mudrarakshas/qaTT754
(d) Dharamyir Bharati/se& ard

Ans. (b) :

Zreed =

T W ~ ST A, e g

AR FA - TR W EW, W §EEl

[ENIE L] ~ YRR

125. In which city was poet Mahadevi Verma born?
waATaAT WEEAT au1 &1 W fohe VIeT § g3 917
(a) Azamgarh/ $TSHITE
(b) Chitrakoot/feFEe
(¢) Kannauj/&ars

(d) Farrukhabad/F¥Emg
Ans. (d) : FafFd gerd amt =1 5= 26 O, 1907 €. 3
GEEAE, IW Y F §9F SRAR A g o4 =
“safeE HRTC F w Y H o I 9w 21 98 IEeE wf
U Y@ FardE ff) e A e, s F
e, 7 uftER, dfemn, fen, Aew a2
126. Virus is a program that has ben written to

interfare with the normal functioning of a
computer. Which of the below in nnt a type of

virus?/@TITH U U g # o sy =
WO ST 0 g H77 & o0 =7
AT ¥ FAH W @A AT A U T T 57
(a) Boot sector viruses/de FT AWH
(b) System viruses /FFEH aEE
(¢c) File viruses /FEA AATH
(d) Disc viruses /255 aray
Ans. (d) : F2%F 990 ©F SSE F GAWH A4 &1 A
A9 UF YER W AWE 2, AE FgE F R
FHFIA ¥ T FA o o AT T 2
127. Which of these options in mnot correctly
matched.Z5H | =19 17 fawen @t 30 & 0=
= @ #
(a) 1333-Ibn Batuta arrived in India
1333~ AT W e |
(b) 1506-Birth of Guru Nanak Dev
1506~ & AF F T4
(c) 1290-Marco Polo visit India
1290~ P! 9T 3 a0 AR R
(d) 1498-Vasco da Game lands at Calicut
1498 -areH 2 T FelEme § A0

Ans. (b) : T& 9% 24 &1 99 1469 £ # vagw &a
¥ UH T aead], T A g 41 I: FAFev b
20§ We A @ g1

128. Which of these contunents does not have

savannah grasslands?

T # form wETETe # WA w % ee i 87
(a) Africa/3ThIEH (b) Europe/Zld

(¢) America/ 3= (d) Australia/ ST2fean

Ans, (b) : TRET § TAM 99 F T2 sk, SR,
srefor st afpgd ufery § fem 21 w@Fn 9% F
#2M (Savannah grasslands) Fors ot i EELIE I
I A F WEE T4 AW W g @ Hes i o

T &1 7 79 F fow T 2

129. Which of these India states does not have
population of more that 100 million?

¥ e wwda o= ° 100 fafess &
wfire ImarEr =& &
(a) Uttar Pradesh/3w1 =9
(b) Maharashtra/FerRTg
(¢) Bihar/fEw
(d) West Bengal/9f## ama

[Ans. (d) : 5FE Twq & 100 ffoEa § &9 @ awen

T59 ofvem A &1 2011 F FATEEER 9fvew @ma
F s 91.2 Mg §, FafE IW w29, TEAY A
farr 3 AT 79 100 e & sifir s aren T B
130.

In order to address rising incidence of Vitamin
'D'  deficiencies, Particularly amongst the
voung people, Food Safefy and and Standards
Authority of India has launched a unique
initiative, in association with NCERT, NDMC
and North MCD School. What is this initiative
called?

faetfm '€’ @ =il @ mwdr w=Ere,
WHET gAT A °, T A i % e
T [IAT AT W WS J A AR
gt i Iwd uwHTE wEe & weEm |
UF TS UEE I[E Wi F1 I URST I FT HE
T &2

() Unnat Bharat Abhiyan/39d 91d Hfarm

(b) Swayam/%@&d

(c) Sambal/Hae

(d) Project Dhoop/SfI= o9

Ans. (d) : 9 s, 2018 1 fa9m &9 & 7a1 @°n #
faeifim € &1 & 9 agd s @ dEfE 59 F
fife FSSAl 3 NCERT, NDMC #ft North MCD &
HEAT § 9FEAT 49 (project Dhoop) # TF 1 WA
Y[ W §) TE TE0 Sl § I S S % 9
@ uftAfdd #T 30 FAE & WE W A F g 11 a9
F | A9 F TeA SN F F AR swm
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HTHT Feg TIEITT
(General Intelligence Test)

Select the figure in which the question figure is
embedded.
=0 Torm =1 wa W T Wy SR e #

131.

w |
(a) >< ) — )
72 \
(c) (g) (d)
:kﬂs.(_c,:i b \ B ¥ F i 1

yI- 3T Faa fawe (o) ¥ fifed 2

132. Select the option that is different from the
other three.

0 faaea @t g St fip s AT & sre &

(a) Q >< (b) <> +
HA| X0
(c) A >< (d) Q +

am i X

Ans. (b) : fFFeq (b) 2= A1 ¥ Fem g wifts ey
(b) & T T s § AR o F A 8

133. Sclect the option that follows the same pattern
as the figures below do.

e &t ¢ anmfaat & waE e @ e '
orer farehen &1 waT &l

Y & [

(a) (b)

A\

—

(c) (d)

Ans. (¢) : 9 YK U w3 & 7 sw0ar w99 4
AL AN F AR 1 I TER fAEe (o) ff & e
?{Fﬁﬁﬂﬁ‘é‘l

134, Select the option that is related to figure 3 in
the same way as figure 2 is related to figure 1.

=0 fawew &1 w@T & A ARG 3 T oI
UEN HeEiw & 5 wew et 2 ot 1 H

wafa 81
A

?

4

\

HFA 11

(n) (b)

(d)

(c)

I 9FR,

i famed (d) = 2
135. Select the option that is related to figure ¢ in
the same way as figure b is related to figure a.

FH freeT =1 =T wE AT S ¢ § IH g
weftra & 0w smRfa b, sl a ©

K|S

?

(b) (€)

(a) (d)

16



1 - i

Ans.{c}:ﬁ'ﬂﬂ'eﬂ'{'ﬂ@ﬁaa%m-%mﬁw

HHMA b WA FA § I TER AER ¢ F I F

F TACH FFT d WA A 2

o7 e (c) T 21

136. Select the Venn diagram that
represents the classes given below,
Unmarried Persons, Business Leader, Men

IH A AN W oEA H oW e fEw et
Rt Wl F | Fvniar
wrfyarfea =, fawag sy, goa

(b} @
©) O OO
Ans. (b) : 3 # sifaarfes =afs, fesy der, o &
it &1 faey (b) Wefeld #0198 wE g @
wafyfd e 21
137. In the figure given below, the triangle
represents Vegan Products, the rectangle
represents Chocolates and the circle represents

Products made in India. Select the letter that
represents India—made vegan chocolates,

o & 7 amply F frue v IR =
Toier €, Aa Ao & goniar & ofw 3w
WrE # IafEd SArg Wy EvnAT £ WReE g
Tafifa et Sifeeie o gfaflae & aet
37T /T =G HI

(c) (d)

correctly

(&)

(c)

€]

B
WA
E

C

(a) A
{¢c) C

(b) B
(d) D

Ans. (a) : a9 T =Rl Twee @ sfhfafie
WEL A Wi a B
urA ¥ A TN IR

G

/7

(

138. The Venn diagram given below shows the

number of members of a sports club and the
games they play. The triangle represents
billiards plavers, rectangle represents squash
players and the circle represents golf player.
What is the total number of all the players?

H= fear mar A9 emE Uw WREE FoW F
weEt 3T I F W W A @t @t
e feamr )1 e fafaada faenteat &
TyiieT ¥, e wEw faenfyar ®oguniar §
s gw Tiew faenfeat = ot & wef
Taenfeat =it Fer e a1 7

12
6
5/‘;/3
i

8

{a) 51 (b) 55
(c) 59 (dy 37
Ans. (b) :
ot faanfedi #f 9 - 12+8+17-5-6-4+3
=55
12 faferads
O ¥

T 2

17 =

139. What is the total number of triangles in the
given figure?

fau o ferst ¥ Brepivil &t et dwar = §7
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I OA H T =13

(a) 7 (b) 9

(c) 13 (d) 15
Ans.(¢): |, APOQ
2. APOA 3. ASOA 4. ASOR
5.AROB 6. AROQ 7.A QOB
8. A POS 9. APSR 10. A PQR
11. AQPS 12, AQRS 13. ATUV

140.

Select the correct water image of the following
figure.

Tratafas fos & 9 arey 30 =1 997 &)

TR R R R R R R TR mn’ﬁﬁ'ﬁ

w1 fas

141. Shashikala leaves her home to go for a long

distance run. She starts from her home and
runs 4 km to the North. Then, she turns right
and runs for 3 km. Then, she turns left and
runs for a distance of 4 km. Finally, she turns
right, runs 3 km and stops at the stadium. To
which dircetion is the stadium located with
respect to Shashikala's home

wifdTeReT et 42 & o aras | et )
ag AU BT W yrE el & 3 3w favn ° 4
Tereft Srgeft ¥ e, @ 21 of wedt ¥ afv 3
Tereft Sreedr %1 ToRe, o = gt & 3w 4 fomudt
dredt ¥ 3fw §, a% =¥ o g ¥, 3 Tl
dredt & afft Rfzaw § st 21 wifdreen & =¥
o= weier o Rfyew frm foom 7 from 87

(a) North-West/Zai-qfgm

(b) Snulh—F.aslfa'ﬁ?NT*ﬁ

(¢) North-East/ 3-8

(d) South-West/Z&m—afa

Ans. (¢) : 29T 3@ ¥ WY B fF 9w 3 W &

wer f wfeam se-gd faen & fem &
- x ',3.'71.
| |4
' 3 P
£ E,
4
T i 1.

'
"
.
.
"
1
'
"

)
»
..

142. Shashikala leaves her home to go for a long
distance run. She starts from her home and
runs 4 km to the North. Then, she turns right
and runs for 3 km, Then, she turns left and
runs for a distance of 4 km. Finally, she turns
right, runs 3 km and stops at the stadium,
What is the shortest distance between the
stadium and Shashikala's home?

VITITeRe ST €rg & foru s uw H faserdt £
9 AU BT ¥ YR Il § HT I 9w W 4 km
gt €1 o, a7 T v gt € 3 3 km
drget &1 few, o and godt & o 4 km = g
T w % (AU Srgdt € WA §, 9% T an
Tedt £, 3 km gt ¥ 3w 2fww # T
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wfgay 3im ofdremer & o7 & e waw w0

it = 7
(a) 7 km (b) 10 km
{(¢) 12 km (d) 11.5km
Ans. (b) :
D 23 .
o
d .7
4
A
TEUTTE T -
AC’=AB*+BC =)'+ (3= 16 +9
Ao a8
AC=5
CE*=CD*+DE*=(4)* + (3°=16+9
CE =35
CE=5
AC+CE=5+45=10
HA: W 2 6 =gy 3k vivmer % W & 99 way
F4 3] =AC+CE= 10

143. Two pnsiﬁﬁ of a dice are shown. Which
number will appear on the face opposite to the
face with the number 57

T U i g frafrat e fewg w8 1 we

e 5 & fouda faom # faerd 2fi?
2 4

(a) 2 (b) 3

(c) 6 (d) 4

Ans. (d) : U S 9" 8 G common B A common
T/ ek S BEH a9 g3 9 TR g & fowid
e élﬁ %l

5 &1 faulla =4

144, Read the given question followed by two
arguments numbered 1 and Il. Consider the
civen arguments and determine which of them
is strong.

Question:

Should Vijayant join

Management trainee?

Arguments:

. Yes. Vijayant needs a job immediately and
this is the best job he ¢an get with his
qualifications and experience.

11. No. The job requires extensive travel.

ABC Itd. as a

1. feu "o waw wvw @ ot IEeR @ ©r
foreast wenf 1 3fiw 11 = ug fYw 7w Rt @
foremt =t afir faifta = f =0 @ =9

| AHET
P EEE
AT Tersreia =Ty i % w9 H fefres
wftaferd ar =nfew?
=

1. & fawee &t qie el @ wew g el
qg IAS arEar AR SHEE F FFET
TaE ST W B

11. 7t 73 v o arfires aren S I R
(a) Only argument I is slmng,’;hqm & | EEET g
(b) Only argument II is strong
Fael 7 11 9990 &
(c) Neither argument | nor 1l is strong
T4t ok 1 Sie T 0 He E
(d) Both the arguments are strong
a1 7% W 8

Ans. (a) : &3 F49 % 37O T | 9990 & oWiF B9

§ = % fawa & B¢ e A 81 o a9 11 aeEa

T E

145. This question has a statement followed by two

conclusions numbered 1 and II. Assuming that
all information given in the statement is frue,
consider the given conclusions and determine
which of them logically and definitely follows
from the given statement.

Statement:

Kapil won the Best News Anchor award for his
role in "Prime News with Kapil' show on
Moony TV,

Conclusions:

I. Kapil is a TV news anchor.

II. Kapil has won this award for the second
time in a row,

W UvE H U HAF % A8 °F 317 frend W
1 3T 1 fau 7w & oE wee gy f wew § A
¥ weft wert wd ¥, faw o et o
frem sl v e mo &t fF =0 @ @[
wehuT 3t fAfgm wu ¥ fiw T owmew @
T FHTAT &l

EREH

e o WA et W yew =W fag wuer’
§ eroft gftenr & fow wddy wuem g
QIR S|

Torerd:

1. ShiteT Ues ralt THTET Ut £

1. HiUeT = TR et I 9% GuehT S §
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(a) Only conclusion I follows
Faa s | e w2
(b) Only conclusion II follows
Fa9 s 11 e F 8
{c) Neither conclusion | nor 1l follows
7 7 frepd 1 3 A 0 e w R
(d) Either conclusion | or II follows
a1 A Fresd 12 11 9 e 8

Ans. (a) : 5 FUea 7 W F TEES TR TS H

qEFR S 21w He SE gueR o €1 s
frd | g@m & @1 EfE F49 H aAR RO AR
QRN S S AT T g

146. This question has a statement followed by two

147.

This question has a statement followed by two
assumptions numbered | and I[I. Analyse the
statement and the assumptions and select the
assumption (s) that is/are implicit in the
statement.

Statement:

Shubhra excused herself from an important
meeting and went to pick up her son as he was
running a high fever.

Assumptions:

1. Shubhra is a single parent,

11, Shubhra is a working parent.

W Uy ° wmus & wre unor g 1 s o
et §1 @ et uron wr Rvden =1 sl

wYT H sfatifEa amon = == w0

assumptions numbered 1 and [I. Analyse the
statement and the assumptions and seleet the
assumption (s) that is/are implicit in the
statement.,

Statement :

Nashit wore his uniform, loaded his gun and
left for work in his chauffeur—driven official
car.

Assumptions:
I. Nashit is an officer in the armed forces.

II. Nashit is a military commando posted at Raj
Bhavan, Jaipur.

TH WYA W YA & @1g U A 180N 09
T ¥ e 3T amom w favewm W sin
HUA | AAATEA WU T wa il
g
e =t e7oeit @l wedT, st s W W e
sft st = denferer snfurefies @ o
& & ferT frerer
T
1. =ofte wore #a1 1 e s §)
1. Ffte sy & Tewes # AW U i
FHATEr F
(a) Only assumption 1 is implicit

Faa g 1 fAfEa g
(b) Only assumption Ll is implicit

Feer w11 Bl 2
(¢) Neither agsumption I nor Il is implicit

7 A g [ s A & AR
(d) Both assumptions are implicit

2t T fafed &

-

R
9T U HEvayv dew ¥ fAed W 3w erad
¥ @ o i o e T R T A g
am
R
1. 19T Ueh Ukl HTAT &
1. FTT U STHERTST HTAT £
(a) Only assumption | is implicit
Faa srom | ffd 2
(b) Only assumption LI is implicit
Faer s 11 ffed §
(c) Either assumption I or 1 is implicit
o & g 1A fafe R

(d) Both assumptions are imphicit

gl Ry fafed &)

Ans. (b) : YT & IFTEAR VW UHA HEI £ A1 T T8
T T | FAE 9§ WY ¢ YA UF FAEE| A
21 37: s 11 fAfew &1
148. This question has a statement followed by two
assumptions numbered | and [I. Analyse the
statement and the assumptions and select the
assumption(s) that is/are implicit in the
statement.
Statement:
The movie was released alter the director gave
a written assurance that the story had not
distorted any historical facts.
Assumptions:
1. The movie is based on some historical facts.
Il. Leaders belonging to a particular
community have objected to the movie being

Ans. (2) : 7900 TS § 449 U 99 FEE g, UEn
FUF F Wy T 2| Y s g9 fefis s g
F19 UL Y| EHE WE 6 2 % g8 gue g §
Ao 81 A e | uron | fafa 2

released.

TH Uy W U % =g Qo w1 A7
et ¥ Fwew i gwm @ favemw & el
HUT H JAf- e Qo T =w"T w5
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R :

fodvrr & e faflas svames 39 & =g &
e = fadt oft Ufererfaes weal & faapa =@l
fora o fivew fiefiar g8

T

1. Torew e Uferefaes et v smentia ¥

1L Tt fagre wuemm ¥ 92 i 7 fefe
B ATt ToRew =1 ferdrer faram

Only assumption | is implicit

e o 1 fafeE §

Only assumption 11 is implicit

e s 1 ffEa

Neither assumption [ nor 11 is implicit

% AT g [ S 0L A A A #

[:loth assumptions are implicit

AT SR fafea &

(a)
(b)
(¢)

(d)

Ans. (a) : 99 § Wy ¢ 5 s 4 U ufwrEs
FaH W fhe a9 dfFa, Ufetes Ao F@ fEa w
foram | 31: eer = [ R 2

149. Read the given question followed by two
arguments numbered I and Il. Consider the
given arguments and determine which of them
is strong,

Question:

Should Ganesh buy a new motorcyele?
Arguments:

l. Yes. Ganesh's old motorcycle, which he has
been using for commuting to his office for the
last 15 years, has been giving him trouble
frequently.

II. No. The new motoreyele will add to the
already existing problem of pollution,

faq g wy wr = 1 3w 0 aw S e
e AR oT Taem 1 ein fruifie w1 fom s @
I W A

T
THYT W Uk TS HIETETSieRer I@tadt

E20)

afen?
FIT:f-T'

I. é‘?lﬂﬁwaﬁmm,ﬁﬁ a%
faoet 15 Wl § S0 wEieE W A

Ans. (a) : U 7T 597 % SFER T F AT ARG
il ST W W 1 A G w8, w
qrerasfEe aft 7 w0E i & I\ @ A FH AH W
§ arafr &, @1 W AewEntEe S e 8 3R
I &1 o T & ae 7 1 A &)

150.

In this question, two statements, A and B are
given, which are followed by two conclusions
numbered | and 1l. You have to take the given
two statemenis to be true even if they appear to
be far from commonly known fFacts. Read the
conclusions and then decide which of the given
conclusions logically and definitely  follows
from the two given statements.
Statements:
A. All leaves are harks.
B. All barks are seeds.
Conclusion:
1. Some barks are lcaves,
1. Some seeds are leaves.
TH W9 H, | wIT A I B R fouw 7w €,
fomds =g o fsed 1 afiw 0 fao o € amoenr
BT HEAT T T WAAT T, Wol § & ey
T T @Al | g €| (eRd ug 3 fRT am @
for faq g frewmuf & & @tT a1 Frerd @ifds
w=e # 3w fiflye = ¥ fau o west = g
AT §
A
A. Tt ufvai s £
B. ueff o1& =t &)
T
1. HO BT ufeEi 21
1L & siter uferat €
(a) Only conclusion | follows

Fael e 1 wEw e 2
(b) Only conclusion II follows

Fae e 11 TeA a2
(¢) Both the conclusions follows
(d) Neither conclusion follows,

IUGRT W TR ¥, I I urEwEnEfeer ¥
HTH—H W 3rEay T 8 T
11. TET| TE WIeTHTEieher UgHUT shi Hiaer THeT
! =g 2
(a) Only argument | is strongjaﬁfﬁ | Hefed 2
(b) Only argument 11 is strong
A 7 11 T §
{¢) Neither argument I nor IT1s strong
T A 7 1 A & 1 A #

(d) Both the arguments are strong

Ans. (c) =

e = 1 (V)
I (W)

A T A ©

;3T Frerd g w0 8
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I51.

In this question, two statements, A and B, are
given, which are followed by two conclusions
numbered 1 and I1. You have to take the given
two statements to be true even if they appear to
be far from commonly known facts. Read the
conclusions logically and definitely follows
from the two given statements.

Statements:

A. All shoes are socks.

B. All socks are shirts.

Conclusions:

1. Some socks are shoes,

11. Some shirts are shoes.

TE W9H H, @ wua A 37 B fam o €, e
=g & frewd 1 efiw 1 g g €1 smoeRt S
AT I WE WEAT BOT, WA B A AT W
e & g7 Eh Freand wE af Rew a6 o
faw wu freraf & & == wr feed @it w9
¥ 3 e ®u & Ru o wmeET @ wes
AT 2
EOCEE
A. Tt 5 A £
B. Wit 9wt vie #1
Toread:
1. F® WS 9 #)
1. T3 v 94 &
(a) Only conelusion T follows

e fresd 1 e w8
(b) Only conclusion IT follows

Fea s (1 9T O B
(¢) Both the conclusions follows
(d) Either conelusion 1 or I follows

T At e 1A 1w e e g

Ans. () :

fremd — 1 (V)

Ha: BT frsFd o 4 8

1 (V)

152.

Select the option that correctly fills in the
blanks and completes the given series.

30 Taweq &1 =@ &t /1 7% T H "9@
¥ WO 3 S TE AT G

Ilmn_oppq_rstt_ vvw_xy

(a) n,q,v,w (b)) m, p, v, w
(¢) n,r,u, x (d) m,r, v, x
Ans, (¢) : llminno/ppg/rrs/ti/ vvw/xxy
H: nrux T SE
153, In a code language, ANNOUNCE is coded as
BMONVMDD. How will SURPRISE be coded
in that language?
ferdt  wewmar  § ANNOUNCE &1
BMONVMDD & ®&u ¥ ferar swar 1 3¢t sy
T SURPRISE =i &# ferar smom?
(a) TVSRSITE (b) TTSOSHTD
(c) RTQOQIIRD (d) STQOSIRD
Ans. (b) : 7519 ¥,
ANNOUNCE BMONVMDD

l: lll ‘|
1

I TN,

I?FRPRISE
§ ]

'.FTSOSHTD
2

154. Which word CANNOT be formed using letters
of the given word not more that as many times
each word appears in the word?

faw T yreg % Serl W IWERT Fh B W
V58 A SATAT AT HehAl &) YA W Wedeh 378
ot e w=T gam & It € AW A v
e g

FRATERNAL

(a) NARRATE (b) ERRATA

(¢) FATHER (d) RENTAL

Ans. (¢) : T7 W & H T &1 9o FATHER 7=
TE T A T

155, In a code language, Sweet Corn Soup is coded
as 'Pam Bam Nam'; Sweet Corn Starch is
coded as "Pam Bam Lam'; and Corn Starch
shop is coded as 'Bam Lam Kam'. In the same
code language, how will Sweet Corn Shop be
coded?

feredt Fe s T Sweet Corn Soup T 'Pam
Bam Nam'; Sweet Corn Starch &0 'Pam Bam
Lam'; 3T Corn Starch shop ¥ 'Bam Lam
Kam' & &0 # forar @ran &1 st e wmr ¥,
Sweet Corn Shop &t &d ferar smomm?

(a) Bam Kam Nam (b) Pam Bam Kam
(c) Lam Bam Kam (d) Pam Bam Sam
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Ans. (b) : sweet corn soup — Pam Bam Nam (i)
sweel corn starch — Pam Bam Lam (i1)

comn starch shop — Bam Lam Kam (iii)

i (1) = (ii) T sweet Corn = Pam Bam

T, (i), (ii) 9 (iii) § corn= Bam #: Sweet= Pam
. (ii), (iii) ¥, starch = Lam

g, (in) 4 shop — Kam

Hi: WY B

sweet corn shop — Pam Bam Kam

156. Select the pair of words in which the words are
differently related than the other three pairs,

T I GO W GH W I A G T T
{a) Long : High/&=1 : =4
(b) Cruel : Kind/7T : 5415
(c) Hard : Soft/&fZ7 : L IRL
(d) Light : Heavy/&wH + it
Ans. (a) : [T5E (2) F9F F4 WA F@W 2 F TG
UF-gW & vl s sefef @ §
157,

Mamta's father Raman has a sister, Komal
whose son, Lokesh has a sister named Deepa.
How is Raman's mother related to Deepa's
father?

T % TUaT T W U 96 £, WAl (G0
&S, FIHIT W wEA W AW AT §1 9 @ A
o gt & fuar § == ga &7
{a) Sister/=led

(b) Mother- in-law/ 9

(¢) Mother/df

(d) Sister—in—law/4+2

Ans. (b) :

A T

uf

.
qff

»
f Wl
o SRr——> &
THAMHR T Ha9 #1 E FA T
o= ) 9 &9 F A # A (Mother-in-law) & |
158. lntroﬂﬁcing a girL Bipiu said. "She is the
daughter of my father's sister's mother's only

son." How is Bipin related to the girl he
introduced?

W& SIS 1 U= o gu fafs 3 @ aw
o foar it w2 Wl F gHeAT A W T2
1" fafts =1 39 erget | @ e g7

(a) Cousin/==RT 412 (b) Brother/4Ts

(¢) Uncle/mTaT (d) Nephew/SersT

foam

Ans. (b) :

A0
OO

fe—

s & W & 7= & 0 W sHa a2 [ & o 8
weH Bt & fr &7 3 §) 39 won B =1 3% o=
T 9E & = 21

159.

In a certain code language, "CHEMIST' is
written as 'BIDNHTS'. How will "CONSULT"
be written in that code language?

uF fafym H= W # 'CHEMIST =
'‘BIDNHTS' o =7 # fermr wmar #1 =ft oo
#H 'CONSULT' &t &% formar s ?

(a) TLUSNOC (b) DPOTVMU
(¢) BNMRTKS (d) BPMTTMS
Ans. (d) : 50 7=r
CHEMIST BIDNHTS
i |
— | |
+]
|
_|.
|
=1
Eesigb-cany
G oINS RIE 1 IliPMTTSIS
L
— | |
3
-1
+1
-1
¢
-1

160. Which among the following words will come

third in the English Dictionary?
ST gregeRiyT o fefafiga # @ &9 @ I=
dit T T SrTE?
(a) Notorious/dF IEZ (b) Nalumlﬁl’@ﬁﬁ
(c) Na(innal/?@'ﬂ (d) Notional/Heies
Ans. (d) : 757 T v F v=Sw & 4 A HAaigd
FH W
National — 1
Natural — 11
Notional —» [T
Notorious — [V

F: 958 ®IH 9 Notional 315 81
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161. In a code language, MAGNIFIER is coded as

FIERIMAGN. How will TRANSIENT be coded
in that language?

ferdt  Fewmm W MAGNIFIER &1
FIERIMAGN & &0 % fermar smar €1 ==t o
T TRANSIENT & &:#& ferar smam?

{a) TNEISNART (b) IENTSTRAN

{c) ENTTRANSI (d) TNEITRANS

ot @ g gam & 3t & @ Aw v &
W B

INSTRUMENTALIST

(a) INSTRUCT (b) TALISMAN

(¢) ENTRUST (d) METRE

Ans. (c) : G T INSTRUMENTALIST & 3®7 &

9% ENTRUST @141 &1 9T 2 |

:‘\ns. (b) : % W H @ :@ # mﬁﬁ E"W e :f::rftir:h:h: p::::e t:‘aa;' l:n;r:]lll:\tes{:c::)t}h:ert;ﬁi
§ A R S A H AR S A0 F e e related to the first term.
EGRET - 3 fagey @1 9o i W drer e ¥ o
MR BT SRR W Tt # For weRT e vies wEet vns &
reiftrar 1
6:180::5:7
FIERIMAGN (a) 25 (b) 125
34 =R (c) 120 (d) 150
TR.‘\\.SIFNT Ans.(d}:
8 4 180T D 150
I i) | ‘|
IENTSTRAN 6x30 3%30
162. In a code language, HEAD is written as 1356, | 166. Select the option that is related to the third

HIRE as 1423 and RIDE as 2463. How will
DARE be written in that code?

fereft Fewmar § HEAD & 1356, HIRE I
1423 30T RIDE & 2463 % w0 ¥ foran =war &1

=t wre ¥ DARE &t & ferar wmam?
(a) 6523 (b) 1465
(c) 3241 (d) 4561
Ans. (a) : =T 8-
H=EE =0 k=0I1N=86
R=21=4
DARE = 6523
163. Select the option that is related to the third
term in the same way as the second term is
related to the first term.
30 famwer &1 === & W i v A 3
T Taifer § Torm wasre guw vreg vger vieg |
HaEf &)
10:105::18:7
(a) 315 (b) 324
(c) 333 (d) 162
Ans. (¢):
10 105 18 3133
S | T
10° <1072 18" + 1872

164. Select the word that can be formed using the
letters of the given word, using each letter only
as many times as it appears in the given word.
fou U yreg & e W IUAT FHH DA
VIag ST W WehdT §1 Ve H WedeR Men

term in the same way as the second term is
related to the first term.

39 faweq =1 wgw & A d6t v | I
weRr et & form wemt gu vee uwet v W

o 2
23:69::27:7
(a) 91 {(b) 81
(c) 72 (d) 89
Ans. (b) :
23 69::27 81
| * 1 1
.3 3

167. What will be the value of the expression given
below if the sign '+' is interchanged with -
and the number 'S' is interchanged with '4' in
the LHS?

e feq Qg =W @ AW F=w g At o
& ' o WY "Eem WA € ST LHS ° @
'S" ST TG 4" o T S Wl §7

(120 -4)+5=7
(a) 20 (by 28
©) 6 (d) 23.2
Ans. () : fEm1 2
=(120-4)+ 5
JeAMER, 58 UF #E F e W
= (120 +5) -4
—24-4
=20
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PSG2 Read the given information carefully and
answer the questions that follow.

In a housing socicty, there are 200 families. Of
these families, 70 have a car each bul have no
bike; 50 families have a bike and a car each; and
65 familics have only a bike cach. The remaining
fammhes have neither a car nor a bike.

PSG2 & T Wt @ AT ¥ wg ofir =
o Tyt w1 I 3

us EEfii gieEdl |4, 200 uitEn &) g9 ofari §
F 70 & UE UH &0 @ oAfHd #1245 99 8 S0
uftad ¥ U9 UF ARF % uF #8365
TRERl F U FAd UF aEF 21 99 9fEd F 9M
R caed i R o ]

How many bikes are there in the housing
society in all?

BTRfET Araradt § we faat awe §2

(a) 50 (b) 115

() 65 (d) 125

168.

Ans. (b) : EFET FEEE § Fo1 gRAR = 200

7 gfar 5= o -

FL ¢ Al aE & - 70

UF F ST U TEE = 50

FAA UF TEF - 65

H: FHel dq5F =65 + 50=115

169. What is the ratio between the families that have
only one vehicle to those who have do not have
any vehicle?/39 TETT @ e &1 AT FAT
% fomes e FEm U= awd ¥ ol faas uwm

TS ATEA e &7
(a) 9:2 (b) L1:2
{¢) 91 (d) 12:1

Ans. (¢) : T 981 =70 + 65=135
H¥ AT T =200 (70 + 50+ 65) = 15
¥ U dled ¢ Hig aed 8 = 135:15=9: 1
170. How many more cars are there in the housing
society than bikes?/aTger @t domT | grafdn
Traradt & et w s 52
{a) Both are in equal numbers
A A ge § E
(b) 20
(c) 15
(d) 5

Ans. (d) :
AEE A q H FRI A SEF FE =70 - 65 =5

171. How many families have at least one vehicle?

fera ofieami & o9 &0 A HY U g §7
{a) 185
(b) 135
{¢) 165

(d) Cannot be determined
foyaifia =& fopar o gam 2
lAns_(up;wﬁ FH TF TET =70 + 65 + 50 = 185

PSG3 The given Venn diagram shows the
favourite subjects of students of a high school.
The rectangle represents Physics, the circle
represents English and the triangle represents
Mathematics. Study the diagram and answer the
given questions.

PSG3 feam e 89 AINE U w1 el & Bl 4
widter et @ feamr §1 emam offees, gw
It 3 Brepror o =T FumeAT ¥ 3@
areHa Wi 3 T U et & WA d)

172. How many students like all the three subjects?

formt v wedft o= fawali =61 v & 872
(a) 19 (by 30
(s} 11 (dy 18

Ans. (c) : I~ I

sga- difes @i

- T 1 e i, difdm, afvE 3w A | a8
i g, wrad s B dE i e
FA: 11 i

173. How many students like both, Physics and
mathematics but not English?

femery foarmeff difemt ofr e 21 wee =

(a) 11 (b) 18
(e) 9 (d) 21
Ans. (c) : - oS =t
HHA- wifew
Pepror— mif
difo, T, 39 9§ A0 S e R fEm I A
& o 39 3 7 &1
Hd: 9 Eﬁ"ﬂl
174. How many students like only one of the g;;
suhjects?f‘mﬁ' B \%q Rl fomar o &
o E THE WA £
(a) 48 (b) 45
(c) 81 (d) 72

Ans. (d) : TF @ 399 gt 6 99 26 &) 9@
=21424+27=T2
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175. How many students like at least two of the

given subjects?/faha= femmef feu 7o fawat o

o & Y FY o fawg ude s &7
{a) 63 {b) 57
() 46 (d) 35

Ans. (b) : F9 8 Fq ¥ {399 v¥s & a1 99 39 20
7, T uA fE A A

Ha: =18+19+9+11=57

176. Six buildings L, M, N X, Y and Z are in a
circle facing the centre. Each building is exactly
opposite another one. Building X is not
immediately next to either Building M or
Building Z. Building M is to Building Y's
immediate right. Building N is exactly opposite
Building M. Building 1., which is opposite
Building X, has Building Z to its immediate
right. Which of the following buildings is
located to Building Z's immediate right?

W: AT L, M, N X, Y 3t 7 uss g9 & &
= 3T €1 v g gat % faewer famdi #)
fafege X fafegn M o fafegt 2 & 3 ==
7 7 & fafegT M = fmiw fafegn v & d=
= T gam f fafedw N fafedm M F S
foafte &) fafeen L o & fafesw X & 3=
faadfier &, & & T 3w fafedn z &1 2= &

fafe 7 3 e 2 aiw R 37

{a) M (b) L

(c) X (d) N
Ans. (d) :

qm
o WE g fF Z & 3% @ N7
177. Which word cannot be formed using letters of

the given word only as many times as each
word appears in the word?

few T yre= % IT&AT W SUANT W Wi AT
vIag El SATAT AT WehAT ¥ Vg H Uedeh 7AW
et am wE gan & Soet @ AW AU v H
W g

FORMIDABLE
(a) FEABLE (b) MARBLE
(c) FRAMED (d) BROMIDE

Ans. (1) : 958 FORMIDABLE % smril ¥ FEABLE
g A€ AT S Tl €, Fih ger wsa § ewH E'US
AR wAfH FEABLE ¥ &1 & 4% €37 & |

178.

If in a certain code language, 'CATCL' is
written as '31835', 'MATCH' is written as
'61835" and 'MINUTE' is written as '624987',
then how will 'TEACH' be written in that
language?
fereft fofigm @t wmar & "CATCH' &7 '31835',
'WMATCH' &' '618353' 2T 'MINUTE' =i
'624987' & w9 T ferar wer &1 st s A
'"TEACH' &t ¥ ferar smam?
(a) 78135 (by 75813
{c) 87513 (d) 87135
Ans. (d) : fom 2-
C=3A=1,T=8§,
M=6,1=2,N=4,

. TEACH =87135
179. Find the analogous pair.

Author : Book

TAH I G|

@ : feams

(a) Tailor : Needle/351 ¢ E[é

(b) Doctor : Patients/ a0 ¢ S

(¢) Carpenter : Furniture/d%3 : HA=1

(d) Jeweller : Gold/S5eR : FHT
Ans. (¢) : 19 797 oS 1 7=y fheE 4 ¢ 2 5
L A BAEL TR
180.

5!
=8H=7

In a row of boys. Sachin is eleventh from the
left and Raj is seventh from the right. If they
interchange their places, Sachin  becomes
sixteenth from the left. How many boys are
there in the row?

wgai @t U Ui o, wfew A ¥ mwed e
o 3 T 9 W A e W O TR A
AU WH H AEH-YEE @ g, 9 "feT
ATE AT | WieTgd T UT F AT g U o
fere orgeh &7
(a) 21

(c) 23

(b) 22
(d) 24

Ans. (b) :
e Uw

':R'r:ﬂ'_.'_'“. e —
T4 149 74 g

. B A LUE e
WW&:W—"OOOD*
a9 169 a9

M EdT % 9E w99 #1168 WE W g 2
¥ T 37 B & ¥ =90 8E 2

3 UE H Fo D] H NG = |1+4+7 =22
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